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Imperial Units

1a. f 1kg = 2.2lbs, which weight s the odd
one out? Why?

Eeme

« Tentins of syup
+ Ten packets of spaghefti
+  Five bags of sugar

2a. Use all four digit cards o find two
different solutions fo this statement.

1 pint = 568mi

10pints > m

hig

3a. Jim needs 100 inches of sting. String is
Sold in 10cm lengths.

Lisa says,
100 inches is about 254cm so you wil

need 26 pieces of sting.”

I 1inch = 2.54cm, is Lisa comect?
Explain why.

hig
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Imperial Units

4a.1f 1kg = 2.21bs, which weight is the odd
one out? Why?

Eema

+ Five bags of flour
+ Five packs of spaghefti
Three bags of sugar

5a. Use all four digit cards fo find three
different solutions fo this statement.

1 pint = 568ml
3pints > mi

Mg

6a. Kaitlyn needs 2m of bamboo in fofal.
Sticks of bamboo are sold in & inch

lengths.
Michelle says,

“6inches is 15.24cm, which means that
you will need o buy 12 lengths of
bamboo fo have 2m.”

It 1inch = 2.54cm, is Michelle correct?
Explain why.

hid
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7a. Which weight s the odd one ouf?
Why?

165kg

+ Two bags of flour
+ Five packets of biscuits
« Sixtins of beans

b4

8a. Use all four digit cards fo find four
different solutions fo this statement.

25pints > m

MA¢

9a. Hana needs 50 inch lengths of fibbon
1o wrap presents. Ribbon s sold in ém
spools.

Justin says,

“You will be able fo wrap 5 presents with
one spool of ibbon.”

Is Justin correct?
Explain why.

1A¢
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Reasoning and Problem Solving
Imperial Units

Developing
1a.Syrup because they weigh 10kg,
‘whereas the ofhers weigh 5kg.

2a. Various answers, for example: 2,399mi,
2,939ml, 2,993ml, 3,299ml, 3,929l

3a. Yes. 10cm x 26 = 260cm and that is
‘enough for 100 inches

Expected

4a. Sugar because it weighs 9.91bs,
‘whereas the others weigh 16.5lbs.

Sa. Various answers, for example: 1,258mi,
1,285mi, 1,528ml, 1,582mi

4a. No, Michelle is not correct. § inche:
15.24cm. 15.24 x 12 = 182.88cm. Michelle
will need 14 lengths of bamboo.

Greater Depth
7a.Two bags of flour are the odd ones out
because they weigh 7.26lbs, whereas the.
others weigh 6.6lbs.

8a. Various answers, for example: 1,542mi,
1,524mi, 1,425mi, 1,452ml

9a. No, Justin is nof correct. 50 inches =
127cm, and 5 x 127cm = 635cm. She
would only be able fo wrap 4 presents.





